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1. In order to receive credit for this problem, you must correctly code ( “bubble”) both your 8-digit UFID and your 5-digit
test number onto your scan sheet and also select the correct response below. Check right now that both numbers are
correctly bubbled. Code your UFID as if it were an ordinary 8-digit number and do not insert a blank space or
hyphen in the middle.

have correctly bubbled my UFID and test number.
I don’t think this is important.
(3) I bubbled the wrong test number.
(4) I don’t have time to check.
(5) I bubbled the wrong UFID.

2. Professor Meisel lives 7.5 miles from campus and he takes 25 minutes to make this trip. What is his average speed in
km/hr?

(2) 0.5 (318 (4) 11.2 (5) 3.0

3. A stone is dropped from a cliff and is seen to hit the ground 3.0 s later. How high was the cliff?

{2)29.4 m (3) 288 m {4)10m (5) None of these values are correct.

4. John Force drove his funny car 0.25 miles when starting from rest. His speed at the end of the quarter mile was
375 miles/hr. Assurmng that he experienced constant acceleration for the entire trip, what was the magnitude of the
acceleration in m/s??

- (2) 281,250 (3) 3.5 %1072 (4) 98 (5) 375

5. A turtle accelerates at a rate of 0.5 m/s?. What will be its speed after 150 ms if it starts at rest?

(2) 75 m/s (3) 0.075 cm/s (4) 0.75 cm /s (5) None of the values listed are correct.

6. Mia Hamm kicked a soccer ball that traveled 30 m. If the ball initially left the ground with a speed of 20 m/s, what
was the angle between the initial velocity vector and horizontal ground?

{ (1) None of the values listed are cor@ (2) 30° (3) 60° (4) 45° (5) 47.3°

7. From the graph shown in Figure 1, how much distance was covered between 2 s and 10 s?

< 19 m> (2)6m (3) 15 m " . (4)25m (5) zero

8. From the graph shown in Figure 1, what is the speed between 0 s and 2 s?

(2) 6 m/s (3) 2m/s (4) 12 m/s (5) None of these choices are correct.

9. A car, starting from rest, rolls down a hill. Assume there is no friction, and the speed at the bottom of the hill is
12 m/s. How high is the hill?

(2)12m (3)9.8m (4 14.7m - (5) Not enough information is given to answer.

10. Randy Johnson, a baseball pitcher for the Yankees, stands 2.08 m (6 ft, 10 in) tall. Due to his body geometry, he can
throw a fastball at 95 miles/hr. Taking the ball to have a mass of 145 g and assuming the acceleratlon OCCUrs Over a
distance of 4.0 m, what is the force on the ball?

2) 53N () TTON (4)832N (5) 10N
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11. A 2.0 kg ball is thrown straight up over the edge of a building that is 50 m high as measured to the ground. The initial
speed of the ball is 12 m/s. How long does it take to reach its maximum height?

(2) 738 @3)12s (4)4.2s (5) 845

12. (CONTINUATION) How long does it take the ball to reach the ground after it is initially tossed into the air?

E

(2) 245 s 3)12s (4) 7.3s (5) Not enough information given to answer this part.

13. Five blocks, each 10.0 cm thick with a mass of 1.5 kg, lie flat on a sidewalk. How much work is required to stack them
one on top of another?

(2) 1477 (3) 150 J (4) 750 J (5) Not enough information given to answer this part.

14. A 100 kg box is pushed across a 4.0 m wide driveway. This task is accomplished by a constant force of 500 N that is
applied at an angle of 60° with respect to the horizontal, as shown in Figure 2. What is the acceleration, in m/s?, of
the box ?

(2) 4.3 | (3) 5.0 (4) 0.62 (5) 9.8

15. (CONTINUATION) If the box starts at rest, what will be the speed of the box after it traverses the 4.0 m width?
(1) 45m/s (2) 3.2 m/s (3) 25 m/s (4) 5.0 m/s (5) 20 m/s

16. A person in an airplane traveling at 50 m/s wants to drop a package into the stadium located at ground level. The
airplane ig 300 m above the ground. How many seconds before the airplane is directly over the stadium should the
package be dropped?

(2) 6.03 5 () 1145 (4) 615 (5)3.145

'
Q0

17. In the Tour de Georgia, the riders climb Brasstown Bald starting at an elevation of 2000 ft and ending at an elevation
of 4500 ft. The distance traveled on the road is 10 miles. If a biker has a mass of 65 kg, what is his change in potential
energy?

(2) 1.6 MJ (3)651J (4) 65 W (5) The correct value is not listed as an option.

18. The average power developed by lifting a mass of 5 kg to a height of 6 m in a time of 3 s?
(2) 9.8 W (3)981J ‘ (4) 90 W (5)90J

Y

19. What is the acceleration of a freely falling skydiver, with mass 75 kg, if the force due to air resistance is 150 N?

- (2) 9.8 m/s? (3) 2 m/s? (4) zero (5) the correct value is not listed as an option.

20. What net force is needed to bring a 1000 kg car to rest from 90 km/hr in a time of 5.0 s?
(2) 11 N (3)98N ' 4)5N (5) 1000 N
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Figure 1: Distance versus Time
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